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1. A starts some business with 50,000. After 3 months B Joins
him with 70,000. At the end of the year, in what ratio should they share the

profit ? .
A 50,000 1 Guil 1T b Teh STUR Y& PRATEI A H TG B _
70,000 =T R I AUR H M BT ST &1 T DL ay o 31 H I5

fobg 3fUTd | AT 9T g I,

(a) 1:3

(b) 3:2

(c) 1:5

(d) None of
these




2. A started business with 45,000 and B joined after ward with 30,000. f
the profit at the end of a year was divided in the ratio 2 :1 respectively,

then B would have joined A for business after.

A 7 T TTT T LET 45000 it gsit fAaer st 947 F= 997 a1 B 30,000
Tr9r o I AT | ATTH BT TAT| Iis Th a9 & AT H Iz 2 : 1 % oqar1d |
ATH ITH 3T g a1 ST Y B o= 980 & 913 =TI | A7iHer gar? |
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3. A,B and C jointly start a business A puts in 15,000 for 8 months B
puts in 12,000 for 9 months and C puts in 8,000, for the whole year. In
the end of the year there is a profit of 10,800. The difference between

A's share and C share in the profit will be:

A, B 3T C = feesh< T =192 9= =311 A 9 % 15000, 8 Hgi+ & <77, B
= % 12000, 9 "I+ & forg g2r C 7 ¥ 8000 IX a¥ = forw & | Ife 971 o
gvq ¥ T 10,800 T ATH TAT, AT A TAT C = ATH T AL FAT FIIT?

(@) %800
(b) % 600
() % 1200
(d) % 1,800




4. X and Y enter into a partnership with their capitals in the ratio 7 :9.
At the end of 8th month, X withdraws his capital. If they receive the
profits in the ratio 8:9, Find how long Y's capital was used.

X qITY U AT H FAA: 7:9 F AT & =1 S o1 671 8 AT
9T X o AT atord OST ara [T &7 97 39 M1 9 8:9 F Aqura §
ATH ITH TR AT ST Y | oot 9SiT fohd e 987 = forw feer 2 .]

a) 4 months
b) 6 months
c) 7 months
d) 8 months




5. In a partnership X invests % th of the capital for % th of the time, Y

invests% rd capital for% rd time and Z invests the remaining capital for

the whole time. If at the end of the year the profit earned is 23,000 then
what will be Y share?

ELIEICIEE AT EIE] @ﬂé’ﬁﬁﬁw‘r%a STHTX?r% HH%%%‘Q,Y%W ,]
S 7 - qT F T aar 2§ aw o gAY & o0 9991 &1l Iie AT
. 3 = _y

T arides A1 23,000 ITH T30, 7 THH Y KT (SE4T AT SRIT?

(a) 5500
(b) 5000
(c) 6000
(d) 4000




6 6. Three partner A, B and C started a business by investing Rs. 48000
each. after 6 months, A left the business, after 10months B left the
business and after 12 months C left the business. If total earned profit is

Rs. 5250, then find the share of A, B and c?
A, BaarC CII"| qTAR 480003%W9§ﬁﬁ%r9r FLeh Teh AT 47 <=h<c| 2
?lﬁw—rrA 6 Hgld a1e, B, 10 Hgiv 918 T C, 1214@%r®||c4 I | El 2!

STAT g1 TTe FoT AT 5250 T A1 31, AT 3ITH F A, B 3T C T T3&dT foha
?

(a) 1125, 1825, 2250
(b) 1125, 1800, 2200
(c) 1125, 1875, 2250
(d) 1175, 1256, 2350
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7. A, B and C are partners in a business partnership.A invested Rs. 4000
for whole year. B invested Rs. 6000 initially but increased this
iInvestment upto Rs. 8000 at the end of 4 months, while C invested Rs,
8000 initially, but withdraw Rs. 2000 at the end of 9 months, At the end
of year total earned profit is Rs. 16950,find their share of profit.

A, B 3T C UT& IR § ATATR 2l A T a9 = forw 4000 fHaer #zar g1 B
FFA | % 6000 fHarer war g oe A1edTe o 3f=a | 8000 T IAT gl ST ¢
A H T 8000 fAaer AT g u¥=q 9 A8 & 3= # 2000 fHehTer &iqr g1 a9
ed H ITH T 16950 & ATH | & T 1 {2e07 AT hiforu?

(a) X 3600, X 6600, X 6750
(b) ¥ 2000, T 3050, T 5400
(c) ¥ 2450, T 2460, X 1456
(d) None of these




8. Two brother invested 50,000 and 70,000 respectively in a busmess
and agreed that 70% of the profits should be divided equally between

them and the remaining profit in the ratio of investment. If one Brother
Gets 90 more than the other Find the total profit made in the busmess

H 2 ATSAT ° Teh SATATL oht LB FALT: 50,000 AT 70,000 T YSiT fHaer
T, AT st o Tg T et 1 1 70% =T Mﬁdﬂ@'ﬁf?ﬂ‘#ﬁéﬂ‘d
EL?ﬁoh?ﬂgqld T e \fll'\*lll?lﬁl\or) AToh! X F 90 ATaeh et g, av =Ta

FY¥ ATATL | FoA Tohd AT ATH ZAT?

1200
1400
1600
1800
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9. A, B and C started a business with their investments in the ratio 1: :
2: 4. After 6 month A invested the half amount more as before and B

iInvested same the amount as before while C withdrew ith, of the his

investments. Find the ratio of their profits at the end of the year.

A, B @7 C 7 31aT Ioit hHe: 112 4 o 0T | (97 Feh Teh ATATL
9% TohaT| 6 |Tg & a12 A 7 fRatora dSit 1 e srferek 3fie B 7 g+t
Fafora It o aXreT gaerter i (Aaer &, stafs Q 7 q+r fAatera geit

Elw‘rith AT AT09 AT fordm 19 3 a9 & dd § Ivg Fohe o1 qaTd | AT
RerTT?

' (a) 5:12:13
(b)5:11:14
(=
(

)5:12: 14
d) None of these




amount of 10,000 every year. After two years his Student B joined him
with an amount of 85,000. Thereafter B did not invest any additional
amount. On completion of four year form the opening of workshop they
earned an profit of 1,95,000. What will be A's share in the earning.

A 7 240,000 T GSit 9T ek Teh FhelT 90F 1| I T3 99 10,000
ATAT=h a9 0| 2 99 & 912 ITSHTOST B 85,000 M9 F¥ 39 ATIE H
TR BT AT AT B 7 lT AT iharior {aer gt il | aehelid sl J[&aTd & 4 a9
1< ITH 1,95,000 & Fet ATHH A T Tg€T 797 T ?

a) 85,000
b) 1,10,000
c) 1,35,000
d

{
(
(
(d) 95,000
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~11. A, Band C are three partners in a business. The profit share of A
IS 116 of the total profit and B's share isiof the total profit. If C receives
243, then the amount received by B will be :

T ATATE | A, B T4T C T ATHRTE &, A T ATHIA FA ATH ohl%%?f?ﬂ B

T ATHATA FA ATH %Ii%l Tfe C &l ¥ 243 T AT 7T QT B T Fehat
T T2

a) 90
b) 96
c) 108
d

(
(
(
(d) 120




12. AIs a Active partner and B is a active partner in business. A puts
In 5,000 and B puts in 6000. A received 15% of the profit for
managing the business and the rest is divided in proportion to their
capitals. The amount received by A out of the profit of 880 in all is:
Teh ST | A i gTtarL g 97 B ATowT arse 21 A 5000 9T
AT g a7 B 6000 fAaer Far g1 A I &1 15% AT HATAA o foQ
AT 8 3T AT AT Ik Gt o ATUTASh a1+ e SITaT gl 880 & Fe
AT H | A T Toha«t rer ferii?
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13 A, B and C started a business by investing Rs. 24,000,
Rs.32000 and Rs.18000 respectively. A and B are active partners
and get 15% and 12% of total profit and remaining profit is to be
distributed among them in the ratio of their investment. If C got
total Rs.65700 as a profit, what was the total amount of profit ?

A, B 9T C T =TI | %79 24000 ,32000 a7 18000 9T ied
gl A TAT B IR ATHGTL g TAT 3701 A ATH T HHALT: 15% TAT
12%9TH BIAT g1 AW ATH Rl I g1 AATAT ISt o rqura § affe faam
W§| Ff< C % 65700 ITH AT &I, 1 AT hiToTT T AT sht et T
AT AT7?

A e I

(a) 2470000
(b) 3,70,000
(c) 3,45,000
(d) 1,57,000
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14. A and B started a business in partnership by investing Rs. 10,000
and Rs. 4000 respectively. Condition of partnership is that B got Rs. 100
per month for management of the business. After paying 5% interest on
the capital, annual profit has distributed in the ratio of their investment/
find the share of their ratio, If the annual profit is Rs. 4000.

A 3T B 7 %93 10,000 3T %. s599T: 4000. 7 99T 7k 91e<T § UF
SAETT [ ThAT| ATARRT 6T a0 T2 ¢ T B &l . a9 & Y99+ & oy
100 ¥ta 978, IS 9 5% ST a0 & d7=, ATT0eh AT Ieh (Ad<r & ara o
fadied gl AT g/3hT f5edT A1 e, Tl aTiue o1 =94 4000. 2|

(a) 3000 each
(b) 2500 each
(c) 1500 each
(d) 2000 each
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15. A and B started a business in partnership by investing in the ratio
7 1 9. After 3 months A withdraw% of its investment and after 4 months

from the beginning B withdraw 33%% of its investment. If a total earned

profit is Rs. 10201 at the end of 9 months, find the share of each in

profit.
A 3T B 7 GTHETT H Teh AT & To6AT1 3T 9 7:9 % SqI1d | [0+1 oIt

MR O X 20 N =
TR 2 1 AT Feld a3 A ST IS ST, ST g TAT I 81 H1E

a1 B ﬂvﬁffvﬁah‘r%%%ﬁohm AdT g1 AT dk If< 9 |Tg & 3= H 10201
T ATH AT BT, T ITH F TAF KT (g1 FAT RIT? (a) 3535, 6666
(b) 3055 5555
(c) 4503, 1345
(d) 3545 , 3333
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Q16.Ankit and Pankaj invested Rs. 3000 and Rs 5000 for 12 months and 8
months respectively If they donate 71% of their profit and remaining
distribute in ratio of their investment. Find profit get by Pankaj out of Rs.
19007?

Srfehd 3T Tohot « &9 &7 [Ha9r AT A 12 Aglv 3T 8 Held = T 3000

| 3 5000 &9 Tie o 379" ATH T 71% 1T FLd g 3L AT i 3q (A97 .]
AT H i 3d g1 9 § & Gahol sl 9T ATH AT o 19007
(a) Rs. 190 (b) Rs. 290 (c) Rs. 280 (d)none
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Q17.Three partners A, B and C invested their amounts inratioof 3: 5 : 7. At
the end of four months, A invests some amount such that, his total
investment will be equal to C’s initial investment. If C’'s share in profit is Rs

3150 then what will be total annual profit?

T |TART A, B 3 C 7 g+ T 3:5:7 3 4T | [H99r il I "y & 3
T, A T T TH TR 9T T 8 Toh SHHT et 19991 C o qrieeh fHaer &
AL T 1) AT H C 7 Fgedr 3150 0 g AT A ATTHh ATH FIT T2
(a) Rs 8150 (b) Rs 7950 (c) Rs 8000 (d) none

[




